

II Оперовое смене

$$I = \int R(x, \sqrt{ax^2+bx+c}) dx$$

$$1) \quad ax^2+bx+c = a(x-x_1)(x-x_2) : \quad a(x-x_1) = (x-x_2)t^2 \\ \in \mathbb{R} \quad x = \dots, \quad dx = \dots$$

$$2) \quad a > 0 : \quad \sqrt{ax^2+bx+c} = t \pm \sqrt{a}x \\ x = \dots, \quad dx = \dots$$

$$3) \quad c > 0 : \quad \sqrt{ax^2+bx+c} = tx \pm \sqrt{c} \\ x = \dots, \quad dx = \dots$$

$$\bar{I} = \int R^*(t) dt$$

$$1. \quad I = \int \frac{dx}{(x-1)\sqrt{x^2-3x+2}}$$

$$x^2-3x+2 = (x-2)(x-1) \quad \in \mathbb{R} \Rightarrow \text{используем (1)}$$

$$a = 1 > 0 \Rightarrow \text{используем 2)}$$

$$c = 2 > 0 \Rightarrow \text{используем 3)}$$

$$x-2 = (x-1)t^2; \quad x-2 = xt^2-t^2; \quad x(t^2-1) = t^2-2, \quad x = \frac{t^2-2}{t^2-1}$$

$$dx = \frac{2t(t^2-1) - (t^2-2) \cdot 2t}{(t^2-1)^2} dt = \frac{2t^3-2t-2t^3+4t}{(t^2-1)^2} dt = \frac{2t dt}{(t^2-1)^2}$$

$$I = \int \frac{2t dt}{(t^2-1)^2} = 2 \int \frac{\frac{dt}{t^2+1}}{\left(\frac{t^2-2}{t^2-1} - 1\right) \cdot \left(\frac{t^2-2}{t^2-1} - 1\right)t} = 2 \int \frac{dt}{(t^2-2-t^2+1)^2} = 2 \int \frac{dt}{(-t^2-1)^2} = \dots$$

$$\sqrt{x^2-3x+2} = \sqrt{(x-2)(x-1)} = \sqrt{(x-1)t^2(x-1)} = \sqrt{(x-1)^2 t^2} = (x-1)t$$

$$\dots = 2t + C = 2\sqrt{\frac{x-2}{x-1}} + C$$

$$2. I = \int \frac{dx}{1-x^2+2\sqrt{1-x^2}}$$

$$1-x^2 = -(x+1)(x-1) \Rightarrow \text{forme (1)}$$

$$a = -1 < 0 \Rightarrow \text{ne forme 2)}$$

$$c = 1 > 0 \Rightarrow \text{forme 3)}$$

$$-(x+1) = (x-1)t^2; \quad -x-1 = xt^2-t^2; \quad x(t^2+1) = t^2-1, \quad x = \frac{t^2-1}{t^2+1}$$

$$dx = \frac{2t(t^2+1) - (t^2-1)2t}{(t^2+1)^2} dt = \frac{2t^3+2t-2t^3+2t}{(t^2+1)^2} dt = \frac{4t dt}{(t^2+1)^2}$$

$$I = \int \frac{4t dt}{(t^2+1)^2} = 4 \int \frac{t dt}{(t^2+1)^2}$$

$$\sqrt{1-x^2} = \sqrt{-(x+1)(x-1)} = \sqrt{(x-1)t^2 \cdot (x-1)} = \sqrt{(x-1)^2 t^2} = (x-1)t$$

$$= 4 \int \frac{t dt}{\frac{4t^2}{t^2+1} - 4t} = \int \frac{\frac{dt}{t^2+1}}{\frac{t-t^2-1}{t^2+1}} = - \int \frac{dt}{t^2-t+1} = \dots$$

$$t^2-t+1 = \left(t-\frac{1}{2}\right)^2 + \frac{3}{4} = \frac{3}{4} \left(\left(\frac{2}{\sqrt{3}} \frac{2t-1}{2}\right)^2 + 1\right)$$

$$= - \int \frac{dt}{\frac{3}{4} \left(\left(\frac{2t-1}{\sqrt{3}}\right)^2 + 1\right)} = \int \frac{\frac{2t-1}{\sqrt{3}}}{\frac{2t-1}{\sqrt{3}} = \sqrt{s}} = \int \frac{\frac{\sqrt{3}}{2} ds}{\frac{3}{4} (s^2+1)} =$$

$$= -\frac{2}{\sqrt{3}} \arctan s + C = -\frac{2}{\sqrt{3}} \arctan \frac{2t-1}{\sqrt{3}} + C =$$

$$= -\frac{2}{\sqrt{3}} \arctan \frac{2 \cdot \frac{\sqrt{1+x}}{1-x} - 1}{\sqrt{3}} + C$$

$$3. \int \frac{dx}{x\sqrt{x^2+2x+3}}$$

$$x^2+2x+3=0 \Rightarrow x_{1/2} = \frac{-2 \pm \sqrt{4-12}}{2} \notin \mathbb{R} \Rightarrow \text{no more 1)}$$

$$a=1>0 \Rightarrow \text{more (2)}$$

$$c=3>0 \Rightarrow \text{more 3)}$$

$$\sqrt{x^2+2x+3} = t + \sqrt{1-x} / 2$$

$$x^2+2x+3 = t^2 + 2tx + x^2$$

$$2x(1-t) = t^2 - 3$$

$$x = \frac{t^2-3}{2(1-t)}$$

$$dx = \frac{1}{2} \cdot \frac{2t(1-t) - (t^2-3)(-1)}{(1-t)^2} dt$$

$$= \frac{2t - 2t^2 + t^2 - 3}{2(1-t)^2} dt$$

$$= \frac{-(t^2-2t+3)}{2(1-t)^2} dt$$

$$I = \int \frac{\frac{-(t^2-2t+3)}{2(1-t)^2} dt}{\frac{t^2-3}{2(1-t)} \left(t + \frac{t^2-3}{2(1-t)}\right)} = \int \frac{\frac{-(t^2-2t+3)}{1-t}}{(t^2-3) \frac{2t-2t^2+t^2-3}{2(1-t)}} dt =$$

$$= 2 \int \frac{dt}{t^2-3}$$

$$\frac{1}{t^2-3} = \frac{1}{(t-\sqrt{3})(t+\sqrt{3})} = \frac{A}{t-\sqrt{3}} + \frac{B}{t+\sqrt{3}} \quad | (t-\sqrt{3})(t+\sqrt{3})$$

$$1 = A(t+\sqrt{3}) + B(t-\sqrt{3})$$

$$t: 0 = A+B \quad | \sqrt{3}$$

$$1 = 2A\sqrt{3} \Rightarrow A = 1/(2\sqrt{3})$$

$$1: 1 = A\sqrt{3} - B\sqrt{3} \quad | (+)$$

$$B = -1/(2\sqrt{3})$$

$$I = 2 \int \left(\frac{1/(2\sqrt{3})}{t-\sqrt{3}} + \frac{-1/(2\sqrt{3})}{t+\sqrt{3}} \right) dt = \frac{1}{\sqrt{3}} \ln \left| \frac{t-\sqrt{3}}{t+\sqrt{3}} \right| + C =$$

$$= \frac{1}{\sqrt{3}} \ln \left| \frac{\sqrt{x^2+2x+3} - x - \sqrt{3}}{\sqrt{x^2+2x+3} - x + \sqrt{3}} \right| + C$$

4. ~~$\int \frac{x^2 dx}{x^2+2}$~~ $I = \int \sqrt{x^2-2x+2}$ (обычно брать $\sqrt{a^2-x^2}$, или брать гиперболические)

x^2-2x+2 не разлагается \Rightarrow не пункт 1)

$a=1 > 0 \Rightarrow$ пункт (2)

$c=2 > 0 \Rightarrow$ пункт 3)

$$\sqrt{x^2-2x+2} = t - \sqrt{1} x / 2$$

$$x^2-2x+2 = t^2 - 2tx + x^2$$

$$2x(t-1) = t^2 - 2$$

$$x = \frac{t^2 - 2}{2(t-1)}$$

$$dx = \frac{1}{2} \frac{2t(t-1) - (t^2-2) \cdot 1}{(t-1)^2} dt$$

$$= \frac{2t^2 - 2t - t^2 + 2}{2(t-1)^2} dt$$

$$= \frac{t^2 - 2t + 2}{2(t-1)^2} dt$$

$$I = \int \left(t - \frac{t^2-2}{2(t-1)} \right) \cdot \frac{t^2-2t+2}{2(t-1)^2} dt = \int \frac{2t^2-2t-t^2+2}{2(t-1)} \cdot \frac{t^2-2t+2}{2(t-1)^2} dt$$

$$= \frac{1}{4} \int \frac{(t^2-2t+2)^2}{(t-1)^3} dt = \frac{1}{4} \int \frac{t^4 - 4t^3 + 8t^2 - 8t + 4}{t^3 - 3t^2 + 3t - 1} dt$$

$$(t^2-2t+2)^2 = t^4 + 4t^2 + 4 - 4t^3 + 4t^2 - 8t$$

$$\begin{array}{r} (t^4 - 4t^3 + 8t^2 - 8t + 4) : (t^3 - 3t^2 + 3t - 1) = t - 1 + \frac{2t^2 - 4t + 3}{(t-1)^3} \\ t^4 - 3t^3 + 3t^2 - t \\ \hline -t^3 + 5t^2 - 7t + 4 \\ -t^3 + 3t^2 - 3t + 1 \\ \hline 2t^2 - 4t + 3 \end{array}$$

$$I = \frac{1}{4} \int \left(t - 1 + \frac{2t^2 - 4t + 3}{(t-1)^3} \right) dt$$

$$\frac{2t^2 - 4t + 3}{(t-1)^3} = \frac{A}{t-1} + \frac{B}{(t-1)^2} + \frac{C}{(t-1)^3} \quad | (t-1)^3$$

$$2t^2 - 4t + 3 = A(t^2 - 2t + 1) + B(t-1) + C$$

$$t^2: 2 = A$$

$$t: -4 = -2A + B \Rightarrow B = 0$$

$$1: 3 = A - B + C \Rightarrow C = 1$$

$$I = \frac{1}{4} \int \left(t-1 + \frac{2}{t-1} + \frac{0}{(t-1)^2} + \frac{1}{(t-1)^3} \right) dt =$$

$$= \frac{1}{4} \left(\frac{t^2}{2} - t + 2 \ln|t-1| - \frac{1}{2(t-1)^2} \right) + C$$

$$= \frac{1}{4} \left(\frac{(\sqrt{x^2-2x+2} + x)^2 - \sqrt{x^2-2x+2} - x + 2 \ln|\sqrt{x^2-2x+2} + x - 1|}{2} \right) + C$$

$$5. I = \int \frac{dx}{(1+x)\sqrt{1-x-x^2}}$$

$$1-x-x^2=0, \quad x_{1/2} = \frac{1 \pm \sqrt{1+4}}{-2} = -\frac{1}{2} \pm \frac{\sqrt{5}}{2} \Rightarrow \text{none 1)}$$

$$a = -1 < 0 \Rightarrow \text{one more 2)}$$

$$C = 1 > 0 \Rightarrow \text{none 3)}$$

$$\sqrt{1-x-x^2} = tx + \sqrt{1} / 2$$

$$1-x-x^2 = t^2 x^2 + 2tx + 1 \quad | : x$$

$$-1-x = t^2 x + 2t$$

$$t^2 x + x = -2t - 1$$

$$(t^2 + 1)x = -(2t + 1)$$

$$x = -\frac{2t+1}{t^2+1}$$

$$I = \int \frac{2(t^2+t-1)}{(t^2+1)^2} dt$$

$$\left(1 - \frac{2t+1}{t^2+1} \right) \cdot \left(t - \frac{2t+1}{t^2+1} + 1 \right)$$

$$dx = -\frac{2(t^2+1) - (2t+1)2t}{(t^2+1)^2} dt$$

$$= -\frac{2t^2+2-4t^2-2t}{(t^2+1)^2} dt$$

$$= \frac{2(t^2+t-1)}{(t^2+1)^2} dt$$

$$= \int \frac{\frac{-1}{t^2+1} \cdot \frac{2(t^2+t-1)}{(t^2+1)^2} dt}{\frac{t^2+1-2t-1}{t^2+1} \cdot \frac{-2t^2-2t+t^2+1}{t^2+1}}$$

$$= -2 \int \frac{dt}{t(t-2)}$$

$$\frac{1}{t(t-2)} = \frac{A}{t} + \frac{B}{t-2} \quad | \quad t(t-2)$$

$$1 = A(t-2) + Bt$$

$$t: 0 = A + B \Rightarrow B = 1/2$$

$$1: 1 = -2A \Rightarrow A = -1/2$$

$$I = -2 \int \left(\frac{-1/2}{t} + \frac{1/2}{t-2} \right) dt = -2 \cdot \frac{1}{2} \ln \left| \frac{t-2}{t} \right| + C =$$

$$= \ln \left| \frac{t}{t-2} \right| + C = \ln \left| \frac{\frac{\sqrt{1-x-2x^2}-1}{x}}{\frac{\sqrt{1-x-2x^2}-1}{x} + 2} \right| + C =$$

$$= \ln \left| \frac{\sqrt{1-x-2x^2}-1}{\sqrt{1-x-2x^2}-1+2x} \right| + C$$